Respuestas de los ejercicios de la práctica 4

1. i) +/ A

ii) +/ " 1 A

iii) <  " 1 A

iv) A (* " 1 0) 2 _1 0

v) +/ +/ A

vi) +/ A(* " 1 0) 2 _1 5 1

2. Id=: 45 45 $ 1 , (45 $ 0 )

3.  +/ x * y

4. +/ (0 1 * $ A)

6. fact=: */ @: (>: @: i.)

    fact "0 A

7.    +/ a* |.b  

8. i)  A+ 5 5 $ 2 0 0 0 0 0

ii) A (*" 0 0) (>: 2 * 5 5 $ 1 0 0 0 0 0 )  

9. A (>. "0 0) B

10. i)  (>: (<(i.0{$A);1)    {A ) (<(i.0{$A);1)} A

ii) (>: (<1;(i.1{$A))    {A ) (<1;(i.1{$A))} A

iii) ((<2 0;(i.1{$A))    {A ) (<0 2;(i.1{$A))} A

iv) ((<(i.0{$A); 2 1)    {A ) (<(i.0{$A); 1 2)} A

iv) ((1{A)    +4*(2{A)) (<1  ; i.1{$A) }A

11. 5| ((i. 5) +/ (i.5))

      5| ((i. 5) */ (i.5))

12. 
f=: 4 : 0

      u=: x. e. y.

      +/ u

      )

13. i)   primos =: 3 : 0

          A=: ((>: @: >: @: i.) */ (>: @: >: @: i.)) y.

          A=: , A

          x=: (>: @: >: @: i.)(y.-1)

         vec=: x e. A

         vec=: 1 - vec

         vec # x

         )

ii) pideene=: $ @: primos 

14.     progr=: 3 : 0

       a=: 2 * (2+i. (y.-1))

       b=: primos (2* y.)

       A=: b +/ b

       A=: , A

       s=: a e. A

      (+/ s )= y.-1

       )

15. efe=: 3 : '((2+primos y.) e. primos y.) # primos y.'

16.    numperf=: 3 : 0

      a=: 1 + i. (y. -1)

      u=: ((a | y.) % y.)=0

     (+/ (u # a)) =  y.

     )

        NumPerf=: 3 : 0

    (numperf "0 (1+ i. y.)) # (1+i. y.)

    )

17.     sigma=: 3 : 0

       a=: 1 + i. (y. -1)

       u=: ((a | y.) % y.)=0

       t=: (+/ (u # a)) 

       )

          amigos=: 4 : 0

      ((sigma x.) = y.)*((sigma y.)= x.)

       )

         prog=: 4 : 0

      ( x. amigos "0 (1+ i. y.))

      (( x. amigos "0 (1+ i. y.))) # (1+ i. y.)

      )

18.     A=:(((^ & 3) @: >: @: i.) +/ ((^ & 3) @: >: @: i.))13

         A=: , A

         +/ (($A)$1729)e. "0 A     (el resultado da 4 por simetria de x e y)

19. f=:  (7 & +) @: (3 & *)

      (f ^: _1) 17

20.  elevar al cubo = ^ & 3

       raiz cubica =  (^ & 3)^: _1

  f=: %: @: (3 & +) @ *:

  h=: (^ & 3)^: _1

  g=: h @: ( 1 & -) @: (2 & *)           o tambien g=: h @:  ((_1) & +) @: (2 & *)

  f @: (g ^: _1) 

 f @: (g ^: _1) 3                     

21.  logar=:  (3 & ^  ) ^: _1

